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6.[ ] Suppose that in a multiple regression the F is significant, but none of the t-ratios are significant.
This means that: (A) multicollinearity may be present. (B) autocorrelation may be present. (C) the
regression is good. (D) a nonlinear model would be a better fit. (E) none of the above.

7. ] The chi-square test is used for testing: (A) independence. (B) equality of proportions. (C) equality
of medians. (D) all of the above. (E) none of the above.

8.[ ]Inan ANOVA, we find that the p-value is 0.003. We therefore conclude that: (A) there is no
statistical evidence that any population mean is different from any other. (B) no two population
means are equal. (C) no two variances are equal. (D) the null hypothesis should be accepted. (E)
there is strong statistical evidence that not all the population means are equal.

9.[ ] The coefficient of determination, r?, has which one of the following properties? (A) is always
negative. (B) applies to any relationship between x and y. (C) is a ratio of unexplained variation to
explained variation. (D) has the same sign as the slope of the regression line. (E) ranges from zero
to one.

10. [ ] Correlation of the values of variables with values of the same variables lagged one or more time
periods back is called: (A) multicollinearity. (B) a transformation. (C) autocorrelation. (D)
variance inflation. (E) interaction.

11.[ ] When all members of every block are randomly assigned to all treatments, the design is called:
(A) repeated measures design. (B) Tukey design. (C) Latin square design. (D) one-way ANOVA.
(E) randomized complete block design.
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